p.'ig WINDSHIELD MOUNTING INSTRUCTIONS W R 1516
Racing Screerrs Mod.: VISION

N Ref.: 1517

HOMOLOGACION ? 4
N° 38188

TOV

Delivered 2 units of soft sticker 30x30x7 to in-
sert between the screen and the bike panel, if it
was necessary.

AVAILABLE CLOURS FAIRING: Carbon, black. Original screw

AVAILABLE CLOURS SCREEN: Smoked clear, dark smoke, blue, black, red, yellow, orange, green, transparent

carbon.
ID. DESCRIPTION QTY.
1 Fairing 1 MOUNTING SYSTEM: HONDA CB600F ‘03 - CB900OF
2 Screen 1 HORNET
3 M6x20 screw DIN 933 2
4 Well nuta-screw ISO 7380 M5x16 and washer 3
5 Metal support (right and Left-sided.) 2
6 Mé6x8 screw ISO 7380 4
7 M6x12 screw 1SO 7380 w/special nut 2
8 Plastic washer @6,1x@11x1 4
9 M8 nut DIN 934 2
10 M8x35 screw DIN 933 2
11 ?18x@D8x1,5 flat washer 2
12 Arrowhead @15x@8x9 2
13 Arrowhead @12x@6x8,5 2
14 Trim 1

Puig puts everything within reach. Check out the collection of motorcycle windshields & fairings we offer.


https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html



